Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.G.8.4 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. While redesigning a bathroom, Eli used tiles in the shape of a quadrilateral.  Which of the following statements, if true, could Eli use to show that the bathroom tiles are a rhombus?
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A. Each vertex angle of the tile is a right angle.
B. Both pairs of opposite sides of the tile are parallel.
C.  Adjacent angles of the tile are supplementary.
D.  All sides of the tile are congruent.
2. During Geometry Honors class, Mr. Hawk drew two parallel lines and a non perpendicular transversal line on the chalkboard.   Which of the following statements is a conjecture that Mr. Hawk cannot make true about the angles formed in his diagram?
F. The alternate exterior angles are complementary.
G.  The alternate interior angles are congruent.
H. The same-side interior angles are congruent.
I. The corresponding angles are complementary.
3.  Given 
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Which of the following conjectures CANNOT be based on the diagram and the given information?
A.  
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4.  A salesman is selling a 52 inch TV to a customer.  The TV is in the shape of a rectangle with the diagonal measuring 52 inches in length.  Which of the following statements is a conjecture he can make about the TV?
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E. The angle formed by the two diagonals intersecting is 90 degrees. 
F.  All of the sides of the TV are equal.

G.  Opposite angles of the TV are complementary.

H.   Each vertex angle of the TV is a right angle.

5. An engineer is using isosceles triangles to construct a bridge.  Which of the following statements, if true, could be used by the engineer to show that the triangles used in the design are isosceles triangle?
A. The vertex angle must by 90 degrees.
B.  The base angles are congruent.
C.  The base angles are complementary.
D. The adjacent exterior angle of a base angle is the complement of the vertex angle.
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